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0440010 001

PC

i-jamp 47

PC

i-jamp 47

8 45 17 30
97 3 95 3 97 3
A 0 0 0 0 0 0
B 0 0 0 0 0 0
97 3 95 3 97 3
3,308 3,308 3,308
i—jamp 2,934 2,934 2,934
47 374 374 374
0 0 0
c 0 0 0
D =B+C 3,308 3,308 3,308
B 3,405 3,403 3,405
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 3,405 3,403 3,405




0 0 0
0.0% 0.0% 0.0%
0 0 0
ID
60 60 60
- 48 44
84,343 76,409 129,498
i-jamp 47
i-jamp
47
i-jamp
i-jamp
47
i-jamp 47 47
47




| | 0440010 002
252
1
969 30 954 30 644 20
0 0 0 0 101 10
0 0 0 0 0 0
969 30 954 30 745 30
11,847 11,847 12,786
11,847 11,847 12,786
0 0 0
0 0 0
c 0 0 0
D =B+C 11,847 11,847 12,786
E =D 12,816 12,801 13,531
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 12,816 12,801 13,531




0 0 0
0.0% 0.0% 0.0%
0 0 0
0 0 0
193 217 32
193 217 32
164 141 -
X —
62
11,581
252 36
252

36




| 0440020 001
33,592 1,040 24,804 780 33,488 1,040
0 0 0 0 0 0
0 0 0 0 0 0
33,592 1,040 24,804 780 33,488 1,040
0 0 0
0 0 0
0 0 0
0 0 0
c 0 0
D =B+C 0 0
£ =AD 33,592 24,804 33,488
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 33.502 24.804 33,488




4 3 5

0 0 0

0.0% 0.0% 0.0%
8,398,000 8,268,000 6,697,600
4 3 5

4 3 5

14




0440020 002

8 1 2
162 5 159 5 161 5
0 0 0 0 0 0
0 0 0 0 0 0
162 5 159 5 161 5
936 870 033
231 231 200
452 417 511
253 222 222
C 0 0 0
D =B+C 936 870 933
£ =AD 1,098 1,029 1,094
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 1,008 1,029 1,004




37 36 35

0 0 0

0.0% 0.0% 0.0%
29,662 28,583 31,257




| 0440020 003
3
( )
1
323 10 318 10 322 10
0 0 0 0 0 0
0 0 0 0 0 0
323 10 318 10 322 10
0 239 0
0 239 0
0 0 0
0 0 0
C 0 0 0
D =B+C 0 239 0
£ =AD 323 557 322
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 323 557 307




318 310 246

0 0 0
0.0% 0.0% 0.0%
1,016 1197 1,309
355 355 355
318 310 246
355 355 355
318 310 246




| 0440030 001
39
13
172 53 2,544 80 2,576 80
0 0 0 0 0 0
67 14 70 14 73 14
1,779 67 2,614 94 2,649 94
3,016 2,660 2,880
2,966 2,442 2,542
0 165 145
50 50 180
c 0 0 0
D =B+C 3,016 2,660 2,880
B 4,795 5,274 5,929
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 4,795 5,274 5,529




1,222 649 882
0 0 0
0.0% 0.0% 0.0%
3,924 8,126 6,268
1,222 649 882
1,222 649 882
70 70 70
94 94 95




| 0440030 002

39

19

1,13 35 1,558 49 1,578 49
0 0 0 0 0 0
115 24 120 24 125 24
1,246 59 1,678 3 1,703 73
1,640 3,256 2,210
1,557 3,013 2,078
82 240 130
1 2 2
c 0 0 0
D =B+C 1,640 3,256 2,210
& AP 2,886 4,934 3,913
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 2,886 4,934 3,913




774 845 325

0 0 0
0.0% 0.0% 0.0%
3,728 5,839 12,039
17 21 10

17 21 10

70 70 70

91 88 90
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10

Rl 157 4,993 157 5,055 157
0 0 0 0 0 0

245 51 255 51 265 51

5,316 208 5,248 208 G i 208
731 1,182 1,100

197 570 695

486 472 325
47 140 80
c 0 0 0
D =B+C 731 1,182 1,100
E =ATD 6,047 6,430 6.421
0 0 0
0 0 0
0 0 0
0 0 0
1,367 1,886 1,414
1,367 1,886 1,414

E 4,680 4,544 5,007




103 131 93

0 0 0

0.0% 0.0% 0.0%
45,436 34,684 53,834
103 131 93
103 131 93
100 100 100
100 100 100




| 0440040 001
2
2 180
12,920 400 12,720 400 12,880 400
453 44 545 54 505 50
0 0 0 0 0 0
T 444 13,265 454 13,385 450
1,815 2,861 2,583
1,352 1,463 1,463
86 56 109
377 1,342 1,011
c 0 0 0
D =B+C 1,815 2,861 2,583
£ =A*D 15,188 16,126 15,968
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 15,188 16,126 15,968




6,054 6,035 6,054
0 0 0
0.0% 0.0% 0.0%
2,509 266 2,638
6,054 6,035 6,054
0.8 0.8 1.0

o x

30

30




| 0440051 001
(

e- e-
258 8 254 8 258 8
0 0 0 0 0 0
0 0 0 0 0 0
258 8 254 8 258 8
6,588 6,389 6,762
4,589 4,390 4,763
1,999 1,999 1,999
0 0 0
c 0 0 0
D =B+C 6,588 6,389 6,762
£ =AD 6,846 6,643 7,020
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 6,846 6,643 7,020




400,000 400,000 400,000

6,846 6,643 7,016

100.0% 100.0% 99.9%

17 1 18

5 8 100% 27 8 100% 27 8 100%
5 8 100% 27 8 100% 27 8 100%




| 0440051 002

Microsoft365

Microsoft365

11,014 341 10,844 341 10,980 341
0 0 0 0 0 0
0 0 0 0 0 0
11,014 341 10,844 341 10,980 341
236,805 247,445 246,863
30,950 27,249 27,244
204,924 220,196 219,619
0 0 0
c 0 0 0
D =B+C 236,805 247,445 246,863
E =A*D 247.819 258,289 257,843
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 247,819 258,289 257,843




400,000 400,000 400,000
247,819 247,445 246,863
100.0% 95.8% 95.7%
620 646 645

60 60 60
100 100 100
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323 10 318 10 32 10

0 0 0 0 0 0

0 0 0 0 0 0

373 10 318 10 37 10

0 0 0

0 0 0

0 0 0

0 0 0

c 0 0
D =B+C 0 0
E =A*D 323 318 322
0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

0 0 0

E 323 318 279




400,000 400,000 400,000
323 318 318
100.0% 100.0% 98.8%
1 1 1
3 15 15
3 30 61

SNS

28 12 14
11




| 0440060 001
65 2 64 2 97 3
0 0 0 0 0 0
0 0 0 0 0 0
65 2 64 2 97 3
129,783 738,732 1,133,552
46,970 726,481 1,055,850
82,332 8,318 37,305
481 3,933 40,397
c 0 0 0
D =B+C 129,783 FETE Y 1,133,552
E =A*D 129,848 738,796 1,133,649
0 0 0
0 0 0
0 0 0
0 0 0
129,848 738,796 1,133,647
129,848 738,796 T
E 0 0 o




327,751 392,092 346,704
0 0 0

0.0% 0.0% 0.0%

0 0 0

291 350 348

356 350 348
100,000 100,000 100,000
353,493 118,738 329,345
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7
20,500

97 3 95 3 97 3
0 0 0 0 0 0
0 0 0 0 0 0
97 3 95 3 97 3
1,455 1,476 1,517
0 0 0
0 0 0
0 0 0
C 0 0 0
D =B+C 1,455 1,476 1,517
E =D 1,552 1,571 1,614
0 0 0
0 0 0
0 0 0
0 0 0
1,552 1,571 1,612
1,552 1,571 1,612
E 0 0 2




66 72 74

0 0 0

0.0% 0.0% 0.0%

0 0 0

25 25 20

27 17 17
9,911 10,000 10,000
11,701 12,938 15,411




| 0440060 003
155

97 3 95 3 97 3
0 0 0 0 0 0
0 0 0 0 0 0

97 3 95 3 97 3
209 209 204
209 209 204
0 0 0
0 0 0
C 0 0 0
D =B+C 209 209 204
£ AP 306 304 301
0 0 0
0 0 0
0 0 0
0 0 0

306 304 299

306 304 299

E 0 0 2




112 112 110
0 0 0
0.0% 0.0% 0.0%
0 0 0
209 209 204
209 209 204




